(D

(2)

3

“4)

(6)

(7)

)

©

(10)

“Provision to parents of giving education opportunity to their children having age 6 to 14 years .” The
above section is added in which set of schedule 86 of Indian constitution under fundamental rights?

(A) Section-11 (B) Section -2

(C) Section -86 (D) Section-4

Who is the author of life sketch of Mahadevbhai Desai *Agnikund Mein Uga Hua Gulab™
(A) Manbhatt (B) Narayan Desai

(C) Jayshankar Desai (D) Mahadev Desai

Who is the author of stanza “Harino Marag Che Shoorano™?

(A) Kavi Preetam Das (B) Manishankar Ratnajee Bhatta

(C) Damodar Khushal Botadkar (D) Narsinh Mehta

Function of Union of India is mentioned in which part of Indian Constitution?

(A)6 (B)4

(K (D)2

Which Indian sportsperson won bronze in 51 kg category in World Boxing Championship?
(A) Sukhdev (B) Nishant Dave

(C) Husamuddin (D) Deepak Bhuriya

To encourage Indian people for independence movement which English newspaper has been
started by Gandhiji in India first?

(A) Young India (B) Youth India

(C) Vartaman Bharat (D) Aandolan

In which age Himalayan Mountain Range formed?

(A) Satyug (age) (B) Archean age

(C) Jurassic age (D) Tertiary age

Stars of sky shine because of which effect of Science?

(A) Diffusion of Light (B) Refraction of light
(C) Diffraction of light (D) Division of light
What is the share of industries in gross national production in India?
(A)25% (B)29%

(C)32% (D)39%

In which part of Indian constitution, fundamental duties have been included?
(A) Part-3 (A) (B) Part-5 (A)

(C) Part-4 (A) (D) Part- 6 (A)
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(1

(12)

(14)

(15)

(16)

(17)

(18)

(19)

(20)

. : ) w0
Who was the first person to receive "Bharat Ratna™

(A) Dr. Rajendra Prasad (B) Dr. Sarvepalli Radhakrishnan
(C) Mahadevbhai Desai (D) Lalbahadur Shastri

In which of the following programmes interactive board is used?

(A) Pragya Abhigam (B) Bal Project

(C) Virtual Classroom (D) Gvankunj Project

Unique ID of how many digits is given to the students of a secondary school?
(A) 14 (B) 16

(C)18 (D) 19

Education is a subject of which list in Indian Constitution ?

(A) Central List (B) State list

(C)Joint List (D) District list

In which organ, there is insulin production?

(A) Stomach

(B) Pancreas
(C) Large intestine (D) Brain
In which country Hockey World Cup (Mens) - 2023 was organised?
(A) India (B) Japan
(C) France (D) Brazl
Where is the World's Biggest Mineral Oil Purification Plant?
(A) Jamnagar (B) Ankleshwar
(C) Digboi (D) Dehradun

How many leaves including holidays have been decided for Gujarat Secondary and Higher Second-
ary Schools for the year 2023-24 by Gujarat Secondary and Higher Secondary Education Board?
(A)79 (B)80

(C)81 (D) 82

According to National Education Policy-2020, which institution has been authorized for monitoring of
minimum commercial and quality standards followed by State/Central Schools?

(A) PARAKH (B) SWAYAM

(C) DIKSHA (D) SSSA

Up to which class education is expected in mother tongue in National Education Policy 2020?
(A)Class 6 (B) Class 8

(C)Class 10 (D) Class 5
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(21)

(24)

(26)

(27)

(28)

(29)

(30)

If the syllabus is chanyed because of business and industries then this is considered as effect of which
factors on educational objectives?

(A) Cultural factors (B) Social factors

(C) Economical factors (D) Ethical factors

“Without thinking on what a person is doing what he should do™? This thought is connected with which
goals of education ?

(A) Ethical goals (B) Goals of attaining knowledge

(C) Goal of complete life (D) Goals of good use of free time

Objectives, syllabus, institutions and time limit if all of these are decided then this is considered as
which form of education?

(A) Informal (B) Formal

(C) Nllegal (D)Joint

Which program does not directly apply to Informal leaming?

(A) Knowledge of alphabets (B) Examination

(C) Education of business (D) Deaddiction

Which of the following issues is not included in three issues of learning process?
(A) Starting (B)Result

(C) Process (D) Evaluation

Some children are introverts, some are extroverts, some are talkative and some of them are shy. This
type of difference in children is known as -

(A) Physical difference (B) Difference in personality

(C) Difference in hobbies (D) Social difference

Which of the following is not included in different intelligence quotients ?

(A) Intelligence Quotient (LQ.) (B) Spintual Quotient (S.Q.)
(C) Regional Quotient (R.Q.) (D) Emotional Quotient (E.Q.)
Who has developed vocational interest modification?

(A) McDougall (B) Strong

(C) Morgan (D) Garrett

Which experiment is used to measure abilities/powers like Art, Music, Creativity in a person?
(A) Attitude Criteria (B) Interest experiment

(C) Zest/Rasa modification (D) Aptitude experiment

Which is not included in three types of internal processes in a class?

(A) Teacher-Student Behaviour (B) Student-Material Behaviour
(C) Teacher-Matenal Behaviour (D) Student-Student Behaviour
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(32)

(33)

(34)

(36)

(37)

(38)

(39)

(40)

Which of the following is not included in commonly used three middle position statistical measures?
(A) Mean (B) Median

(C) Mode (D) Midpoint

Which is different from the three tests of evaluation ?

(A) Written (B) Oral

(C) Practical (D) Functional

With which of the following is spreadsheet related?
(A) Microsoft Excel (B) Microsoft Powerpoint
(C) Microsoft Word (D) Access

Whose philosophy of education is shown in “Framing and Clading” ?
(A) Gijubhai Badheka (B) Nanabhai Bhatt
(C) Taraben Modak (D) J. Krishnamurti

Education by productive labour, for productive labour, and can only be of productive labour™

(A) Mahatma Gandhiji (B) Ravindranath Tagore

(C) Mr. Arvind (D) Swami Vivekananda

Which of the following principles is not included in principles of John Dewey?
(A) Principle of utility (B) Principle of inclination

(C) Principle of labour (D) Principle of zest(rasa)

New India Literacy Program (NILP) has been started for illiterates of which age group?
(A) 15 years and above (B) 15 years to 55 years
(C) 6 years to 14 years (D) 21 years to 65 years

Which is known as one nation one digital platform ?

(A)PMeVIDYA (B) BISAG-N

(C) DIKSHA (D) Vande Gujarat Channel
Who talked about learning by senses ?

(A) Dr. S. Radhakrishnan (B) Ravindranath Tagore
(C) Mahatma Gandhi (D) Maharishi Arvind

Who started learning by senses for special children?

(A) Maria Montessory (B) Grace Fernold
(C) Jim Piaget (D) Ivan Pavlov



(41)  Whichof'the following pairs of psychologists associated with study is correct?

(A) Trialand .Er.ror - Vygotsky (B) Behaviourism - Pavlov
(C) Constructivism - Skinner (D) Conditioning by factors — Thorndike

(42)  Whichof'the following is not a characteristic learning process?
(A) Expenience is necessary for learning
(B) Interaction with environment is necessary for learning
(C) Learning can enter from one condition to the other
(D) Memory is necessary for learning

(43)  Who gave Discovery leaming approach ?
(A) Robert Gagne (B) Jerome Brunner
(C) Bandura (D) Ausubel

(44)  What will be the area of a circle having radius 14 cm? A formula is used by children to answer this
question. Which intellectual skill he or she has obtained?

(A) Differentiation (B) Concept
(C)Rule (D) Solution of the problem

(45)  Inwhichof the following disorders intellectual skill of children destroys?

(A) Down Syndrome (B)ADHD
(C) Cerebral Palsy (D)Autism

(46)  Which ofthe following will be on top level according to Bloom’s Taxonomy?

(A) Evaluation (B) Creation
(C) Isolation (D) Utilization

(47)  Which of'the following is unsuitable in achievement test ?

(A) Sufficient time given to the students to answer all of the questions
(B) Class is related with progress(development)

(C) Education work is given at the end

(D) Questions are selected to test the skills of a student

(48)  Which of the following measurements of middle position cannot be shown?

(A) Mean (B) Extension
(C)Median (D) Mode

(49)  Whichof the following is not true for standard deviation (¢ )?
(A) Group Category will be as much as the low value of standard deviation
(B) Standard deviation increases by the addition of any constant number in marks
(C) Ifall the marks are multiplied by only one number then standard deviation increases at the same rate
(D) Standard deviation is used to know the variability of the marks
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(50)  Which of the following, is not a characteristic of L-content:
(A) These are only indigital format
(B) Itis presented by webpage or any other medium
(C) Itcontains only animation
(D) It can be linked with QR code.
(51)  Whichofthe following is not OER ? .
(A) BISAG - N (B) GROWER
(C)NROER (D) e-pathshala
g E-learning?
(52)  Which of the following subjects (issue) does not apply in the concept of :OH g
: ion.
(A) Learning-Teaching is a present time field.(B) Learning ha.s onl){ St Opnl'
(C) Class learning is interesting (D) Information 1s available oniine.
(53)  Summary of which cannot be applied excepting its related groups. This is what type of modificatiop)
(A) Experimental modification (B) Surve.y o
(C) Basic Modification (D) Functional modification
(54)  “Childrenis creator of knowledge and not consumer.” This is the conclusion of —
(A) Behaviourism (B) Naturalism
(C) Rationalism (D) Constructivism
(55) Learning is a natural process and not manmade. Who gave this concept?
(A)Aristotle (B) Rousseau
(C) Froebel (D) Montessori
(56) R,U,X,A,D,?Tocomplete the series what will replace the “?” question mark
(A)F B)G
(CO)H (D)1
(37) 1,3,3,6,7,9,9,12,21,?7 To complete the series what will replace the “?”” question mark
(A) 10 (B) 11
(C)12 (D) 13
(58) 10,100,200,310,? To complete the series what will replace the “?” question mark
(A)400 (B)410
(C)420 (D)430
(39) In :}cenai;l code TEACHER is written as VGCEJGT then in the same code CHILDREN can be
written as?
(B EISHESTE (B) EGKNFITP
(C) EJKNFGTO (D) EJKNFTGP
(60) Inacertaincode TWENTY is written as 863985 and ELEVEN is wri inthe
same code TWELVE can be shown by which number? wiiltenas 323033 thenin
(A) 863203 (B) 863584
() 863305 (D) 863063
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(01)

(62)

(63)

(64)

(65)

(66)

(67)

(68)

(69)

In i certain code langoage * 123" means *brightlittde boy " and 145 means “tall big boy”™. In the same
wity ‘637" means *beautiful little Mower " then which number will be thee for *bright”?

(A) 1 ()2
(C)3 (D)4

[f+ means *, x means -, + means 4 and = means « then which ol the following numbers will be the
solutionof 175=25 + 54203+ 10

(A)77 (3) 160

(C) 240 (12)2370

Select the appropriate option for * ? " in the following figure

20160 4
? 4
480 8
9% p}
(A) 860 (B) 1140
(C) 2880 (D) 3240

How many triangles are there inthe given ligure?

— I~

(A)15 (B) 16 )17 (D) 18
What will be the angle in degrees between minute and hour hand of a clock at 3:40 ?
(A) 140 (B) 150 (C) 130 (D) 120
Select the odd pair:

(A) Yoghurt-milk (B) Sandal - leather

(C) Peanut - oil (D) Sugar - sugarcane

Arrange the letters of the given word alphabetically.

(1) INTERANAL (2) INSECT (3) INCOME (4) INTERN (5) INSIDE
(A)3,2,5,4,1 (B)3,4,5,2,1
(©)4,5,1,3,2 (D)3,1,2,4,5

If first day of a leap year is Sunday then how many Sundays will be there in the same year?

(A) 50 (B) 51 (C)52 (D) 53

A person drives his car 50 km towards east after that he turns right and drives 30 km. Then he
turns west and drives 10 km. How much away he is from the starting point?
(A) 20 km (B) 50 km (C) 100 km (D) 60 km
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(70)

(71)

(72)

(73)

(74)

(75)

(76)

(77)

(78)

(79)

(80)

(81)

Sclect the differeny figure.

. D
A ” (

VAN
Al

D)D

(A)A (B)B ()C ®)
------------------ AL ] , o
(A) 1y (B) e (C)At™
T POCTEERE L A B g

.. Uz
(A) sy (B) 3243 (C) vy ()=
Rl Ul 203 Gloat ar A sl - atsel 4aiz Sl -
(A) =l (B) s (C)™1a (D) %25

- - - r % P 1% '3- AL s { Uz ]
AU B AL et ol il 2ot Guza st sl 4l el s sedige o 5

(A)ze (B) 453 (C) ety (D)2

widl el 2555 7

(A)xzz (B) Lzl (C) 554 (D) sl12

Al sve-l [zl 1oz 5 iy 7

(A) P (B)ua4 (C)Mla (D) zleieq

Al gl vl 222 Siu A [sey 5415 7

(A) “Uae - 9451 (B)>t17al - [Eudart  (C)salit-aald  (D)>udai- Yol
'-ll‘l'ﬂ 3{=Il-

AU M2 D5 W2 2 3% Gl 2ty - ISTHM MIZAL S5 316% 27] 757
(A) =4l (B) 25[Ey (C) (D) MiziL
(Al GFad wdL 2l Gl g asy giy?

(A) st ! ea [Hzid a5

(B) u2uA A9 [QzuedlAl s, 5147 55 3wl 4l Grezusiy 3o 24

Auadlysdl.
(C) ¥ 7424 = W1zl uitell 4 3idi 4] .
(D) ... dALHELEHAD.
3165 1t At Al 18- WA 28 € Al Rsey 24) 6 7
(A) Aot -ues, 134 (B) 52- 5355, Gywz
(C) sl - M-, #id:539 (D) 5% - By, 3z
AU UL 2B 534 2008 6B waloy 2o Gy A ausy 5445 7
(A) H A uA % s21a aiz -l (B) 514 &uum_ AL A% S

(C)zi% s el Az dman a5, (D)3 2 asyid] qagEy WIS 1 539 ADA.
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(82)

(83)

(84)

(85)

(86)

(87

(88)

(89)

(90)

o1

‘el A" woen Qe o win ?

(A) ea +vuy (B)2a + may

(C) et + 3l uy (D) gl + A ny

lal asiHi R sy sy ?

(A) 2L AU LS OUR ML (B) L8 YA MU HHLsAL.
(C) A512 3L 241 HRBA 24-11% 1y B. (D) 242l 595 olledl -t eld.

‘920l R A4, @uail Guiy W3R 51291d Al - sl IWiBd s3d 26s ‘Wi

Buifagyel s usiz e ?

(A) P Bui@Qdua (B)Avuaas Bulagus
(©) s BuRAwe (D) Ba@aua
AR Al AL A Ban o] 3 8.7 - A 1R LAl

(A) U535 vdsR (B) v[Qullsa v sz
(C) 3us vdsR (D) GuWHLAdEsIR

Mahesh was too smart. (Remove *too” without changing the meaning.)
(A) Mahesh was not smart at all.

(B) Mahesh was smart more than required.

(C) Mahesh was foolish.

(D) I was doubtful whether Mahesh was smart or not.

.................... INS Arihantis .................... Indian Naval ship. (Fill in the blanks)

(A) The & an (B)An& an

(C)A&an (D) The & the

Most students have brought their homework. ..................... of them have not completed it vet.
(A) None (B) Few

(C)Each (D) Alittle

A HIRL L0 SULAL. - AL ALsH AL$5A 2N eUNidR g 4 ?

(A) I cut my hair. (B) Iclipped my hair.
(C) I got my hair cut. (D) I'had a nice hair cut.

Give the nearest meaning of word : ‘Phantom’.

(A) existent (B) imaginary
(C) corporeal (D) tangible
Give the verb form of ‘little’.

(A)alittle (B)unlittle
(C) belittle (D) bilittle
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(92)

(94)

(95)

(96)

7

(98)

(99)

(100)

Change the voice : “What caused COVID-19 72" d by COVID-199
(A) What was COVID-19 caused by ? (B) Whatwascses .

. -19 was caused ?
(C) By what is COVID-19 caused ? (D) Byt cov L

itei ine of the underlined word - «p.
Select the word or phrase which is closest to the opposite inmeaning 0 Rahy

will never accept your request.”

(A) turn over (B) turn down
(C) turn up (D) reject

. 1 1 Ra B 2
Add a suitable question tag : Radha, one of my neighbours slipped off a staircase e 19
(A) did she (B) does she
(C) doesn’t she (D) didn’t she
Fillin the blanks with appropriate set of prepositions : Nidhi travelled ................ hermotherall ... _
the world when she was 17 years old.
(A) by, above (B) for, around
(C) with, around (D) with, over
Tumn this sentence into English ; “e% 42t & dAl i 2sell Glatell AL sl sdl.”
(A) I could still saw her standing there alone. (B) I could still see her stood there alone.
(C) I could still see her standing there alone. (D) I can still see her standing there alone.

Fill in the blanks with the appropriate word / words : Rohan and Nayan have been on vacation
..................... May 2023. They ..................... to Manali for a week.

(A) for, had gone
(C) for, have gone

(B) since, had gone

(D) since, have gone

Mantra got the first prize last week. Find out the correct option to get the underlined answer.
(A) Which prize did Mantra get last week ?

(B) When did Mantra get the first prize ?

(C) Which prize Mantra got last week ?

(D) Where did Mantra get the first prize ?

Ravi ..o in this company for five years. Find out correct form of verb from the options.
(A) works (B) is working

(C) has been working (D) have worked

Find out the correct spelling from the options.

(A) Spactacular (B) Spectacular

(C) Spactaculor (D) Specteculor
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(101)

(102)

(103)

(104)

(105)

(100)

(107)

(108)

(109)

Al A5 1AL oA 2o 54l 1 4 aisfl A gl v el

A 2 et oyl sasifefiy s fule, S12d 3 gefl L g-ioyBt 2aofll w1l 8 - 513
G121 AL DAY 2]

(A) %41 7741 42 518 37 (B) A% 2 §%
(C) & A4l 3ppud] (D) [Eaxil et1SLoau 6.
Ut 512 2 (el 72250 1 L
Allraz12 sld
. 7AzAz Al - oLl
2. A4 Al - NI
3. ulaend e, uzy - yildls
4. yeflera yliu - AL Y2

Guzet 41 521 oA 45l w12l 3 7
(A)MIAT, 2343 (B)dA 1,224  (C)ust 1,324 (D) 1,2,324
12410 QAL s a1l 224t “Yfud? 247 U’ oA aduaal 48 B

(A) (737 (B)£u1y (C)ulas (D) 215l

HIZL 2 sl oflediot Bt Aid1L 212499 11D 2019 s1euF yel 53

(A) AL 211-2 4L 20y (B) A1 213 2g 512

(C) &4 G54 adasdl el (D) w4l %4l Y9l Al AL AU

Al AL sl aupdaL Haless-l UsIR %l - 209 56 3 R ol Bis B B
(A)r2iddlxs (B) [@tuas (C) AU AS (D) AAdRAAAS

129 - 9 2t 10 3% 20ell [AUaL Wgyetsl Hod Y u st ‘eidly suddls’ na-iz 2efs-l
ol 19 7

(A) UelAld Y2d (B) GHL2is2 Al (C) A%~ WS (D) g1z Ayl
g o112 (AL 5(a 202 udHl 56 derl s g B ?

(A) 4Adell il e s -l (B) 6{UIR-AL 351 AUEL €D

(C) Yyl rtomsell Ad . (D) vl A2l 1AL G 1S B
e Qs 2ui (B 202l sl 20t AL 131 2l ?

(A) A1 el dmam wellydl vuu 9. (B) bigsHiell At 5315 ol 198l

(C) 1 UA YUaL 52l uant §5iel el (D) H82l A3 sauoyu 59l

(130 2Tl AL Aot neelsH Yored dsdl.

. w13 (011 want 21+ Grd Gersal 8.

2, a2l sell waL A A AR d2sdl edl.

3, Ml 4l el 6 A udedlid dlen s,

4, 30 2Ll s e Wl M=l Graroudl seal Gel et

(A)2.4.3.1 (1) 4,2.3.1 (C)2.3.4.1 (D)4,2.1.3
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(110)

(111)

(112)

(113)

(114)

(113)

(116)

(117)

& a 2A3L 58 A A 7

a
'{l:"l'il ST ‘"6"‘{[('3{&'{ im}uau AdiHl LML &9 q ats 5-1[3[ ofl 2 e

. "e12 I AL 52t BLEL; 2Ls52311L w2l A8 F - dlut, 5% N
2. iflaen gl diz degaza 88 47 4l 2, A il dIE YR -2
(A)Mi= -1 (B) Ml -
(C) I v 2644 (D) 1 24

WA el Brazean Dad 8. oo S 4G UE AA . -
755807

q 5 aiell 215 usL €l
S astdl. .. PLASH S 5

(A)2adl - 3 52 D, (B) acil - % Au 3¢ Y-
(C) S A - 2aclll 528 69 (D) s - Bgt 568
AAumiell sy @Qme s 4 ? .
(A) Gl ()¢ (C) g (D)6
AL A8 A AL

sld e
LHRIAUAML s8R - 9 2451+ UM
2. g - dsudal
3.21d18 - ye@AlRd
4. Ae15%dld - adl

GURAL U4l s3L Basi AL D ? y
(A)eL 1,223 B)ut1,2244 (Qxatl,334  (D)1,2,3 %14

A0 @A = 1 Asey waie 53 : Ry + Q6

(A) Gl (B) Rl (C) RiyB (D) Ryl

215 HUALHL LA L) 2UMHL SIS Mg U3 dl 15z A 53l - A ausHiE] S s
aselldl.

(A) UM (B) L5412 (C) Al (D)dLst

e -aueafad qa Glall esan-l 21 dls udla 5370 28] edl. - 20 ausaa 2ut 2adar wssiid s
2t [Qaiyel A2l ?

(A)Ye2 (B) 1ayealad (C) dla (D) ulay
5[ 2 ot A asi i @l
sd ulAA
1. dldlHl2ous - RAsLL, vy
2.l - sl Sl
3.ul2ag Alg - &ML Bl
4. WRBUSHLYR - R, udl

Guzl WSl suLAssi i ?
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(118) WHHH AR oA ) 50 ey

(A) azee{l (B)=acf] (C) Grea (D) 2472~

(119) ‘3 s 560 Nl 4y UMA L P 5y Ta Qi 2wild 2use ud-s-l 54 U503 2431 25 7
(A) AAUAS A1y (B) 2aatais #d-un
(C) s 21y (D) 23H S AL

-~

(120) A By us a8 iu A yalazy eafaqn 54wy qusa s ?
Wit By (©)4 (D)a
(121) AL Asi AL

I 1l
. doid a. Ml g WA ez 534 dls3lld
2. uielayl b. UG A&l UM A Hes(z-L UL
RPN e gioimwanan it wys Bt
4. sz arl d. 2l dlzcq »iA qentd disslld
(A) 1-d, 2, 3-a. 4-b (B) 1-d. 2-a. 3-b, 4
(C) 1-d. 2. 3-b, 4-a (D) 1-d. 2-b, 3-a. 4<
(122) 2utd weest ARRAeHE] WA Fsey siavl oAl
(A) 4art- W+ (B) wieL - um + 52
(C) 20 - vidu + R (D) Yer-g - yel = 5%
(123) 815 514 2 Y, RA-dl, i >0l Fdl suisadl Jzen s di q a2 auzs zeqm ?
(A) 2y (B) Q= (C)HZsud (D) 2z
(124) ‘oirad’ - 21 s4l 2365 ?
(A) AU >R (B) HeHuzandl 234
(C) B30 (D) Guuz 2
(125) ‘ed ¢ dn oy udlsy - qusy- usz weual ?
(A) Bisiaisy (B)Agatsy (C) Ay zdazy (D) Hzdauzy

(126) NA-idl sur @Azadl el A 2l 44 ?
(A)asiz-Rzse (B)yor-g (C)xRa -l (D)=l - 2504
(127) ‘atdl qud § el 200l & 2 sg £t ol Al A - 24 qusul Hiey R4l sui wian ?
(A) 234l wisl usue @A, 5§ wssl meufQze v A wsl wsd
(B) 234l wssl yel@un, 5§ wssl steuRzee v 1 wssl Gzauz s
(C) 2xoredl wesl yellazix, 1§ sl »eRas i A wssl wanfa
(D) 13yl widl 2Rz, 18 wesl AeAa = A wssl uandfag
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